NAME: Date: Grade:

(From Grade Calculation on last page)

Course:

. Written Exercise 7: &5

SSTranslate the foIIowing Greek text into correct English (82 answers)

Q¢ 10 cappate O Inovg TOV A0V £8180.0KEV m vaowwyn m ev ) Talhoag, avBpomog Ouu(o eV onT,
Tnv a)m@atow 10D 020D oL un 686c01<ag HUWV; oL 6 Meoclag ovk €1 OvTmg, dALd TOD TovIPod 6L €L MUELS 0VK
alcsoucovcouav OV Xoycov G0V, OTL OVTOL KOKOL ELGLV.

npo EKELVOL TOD owepomon 0 Kvptog nposOnst 0 Xoyw TOVTO, Mou«xptog EGTV O mcrog ot ﬁamksw TOD
Beod £oTtv avTod. AL’ 0DAL TG GMOT® OTL ODTOG €V Tn ﬁamketa OVK £0TOL. sy(o ovK ouomg suu rOLg
wsuBoStSacKakmg, 00TOL YEDLGTOL €101V Kaecog 0 TOVNPOG 0V Agyel TV aAndeiav. tote 1@ avBpon® eue, Ev 10
V1Y 10D AVOPWTOL GV TGTEVELS;

XK Parse the following words according to the appropriate model (93 answers):

"Q¢ (4 answers): Subordinate conjunction introducing dependent
clause -

10 coffatw/ (7 answers): 2 - Loc (Time) - N - S - safBarov, 10 -

0’ Inodg (7 answers): - Nom (Subj) - M - S - "Incodg, 6 -

tov Aaov (7 answers): 2 - Acc (Dir Obj) - M - S - Aadg, 0 -
edidackev (8 answers): Imperf (Desc) - Act - Ind - 3 - S - didacko -
M cvvaywyn/> (7 answers): 1 - Loc (Place) - F - S - cuvayoyn, 1 -

M ev ) Taddoto/ (7 answers): - Loc (Place) - F - S - TaMata, 1 -

avOpwomoc (7 answers): 2 - Nom (Subj) - M - S - avOpomrog, 0 -
Boud (7 answers): 2 - Ins ( )-M-S - 0ovuodg, 0-
guev (8 answers): 2 Aor (Const) - Act-Ind -3 -S - Agyo -

avt®d (10 answers): Pers Pron - Dat (Indir Obj) - M - S - avtog, -1, -0 -
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Tnv aAnbewav (7 answers): 1 - Acc (Dir Obj) - F - S - dAnbseio, 1 -

100 Oeod (7 answers): 2 - Gen (Poss)/ Abla (Source) - M - S - gog, 0 -

oV (7 answers): Pers Pron - Nom (Subj) - S - ov -

un dedwkag (8 answers): Perf ( ) - Act - Ind (Interrog) - 2 - S - Sidwpu -

nuw (7 answers): Pers Pron - Dat (Indir Obj) - S - gyo -

ov; (7 answers): Pers Pron - Nom (Subj) - S - o0 -

0 Meooiog (7 answers): 1 - Nom (Pred) - M - S - Meooag, 0 -

ovk €1.. (7 answers): Pres (Desc) - Ind -2 - S - gyt -

ovtog: Adverb of degree - really, actually, indeed

arka: Adversative coordinate conjunction introducing a contrastive independent clause - but

100 movnpod (10 answers): Adj (Subst) - Gen (Poss) / Abla (Source) - M - S - novnpog, -n, -ov -

ov; (7 answers): Pers Pron - Nom (Subj) - S - o0 -
€1 (7 answers): Pres (Desc) - Ind -2 - S - gyt -
nuegig (7 answers): Pers Pron - Nom (Subj) - P - nuéig -

ovk glcakovcopev (8 answers): Fut ( )-Act-Ind-1-P - gicakoim -

@V Aoywv (answers): 2 - Gen (Dir Obj) - M - P - Moyog, 0 —

cov (7 answers): Pers Pron - Gen (Poss) - S - o0 -

ot (4 answers): Subordinate conjunction introducing
dependent clause -

avtot (10 answers): Pers Pron - Nom (Subj) - M - P - avtog, -0, -0 -

kaxot (9 answers): Adj (Pred) - Nom - M - P - kakog, -1, -0v -

giowv (7 answers): Pres (Desc) - Ind -3 - P - gy -

7po... 100 avOpwnov (7 answers): 2 - Abl (Sep) - M - S - avBpwmog, 0 -

gk€ivou (9 answers): Pron - Abla - M - S - exéivog, -, -0 - (man)
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0 xuprog (7 answers): 2 - Nom (Subj) - M - S - xvpiog, 0 -

npoednkev (8 answers): 1 Aor (Const) - Act - Ind - 3 - S - TpotiOnut -

10 Aoy (7 answers): 2 - Acc (Dir Obj) - N - P - Aoytov, 10 -

Tavta (9 answers): Pron - Acc - N - P - obtog, av, Tod1o -
Maoaxapiog (9 answers): Adj (Pred) - Nom - M - S - poxapiog, -n, -ov -
gotwv (7 answers): Pres (Desc) - Ind - 3 - S - gyuw-

0 motog (10 answers): Adj (Subst) - Nom (Subj) - M - S - mictog, -1, -0v -

ot (4 answers): Subordinate conjunction introducing
dependent clause -

N Bacireia (7 answers): 1 - Nom (Subj) - F - S - Bacikeia, 1 —

100 Ocod; (7 answers): 2 - Gen (Poss) - M - S - 0gog, 0 -

gotwv (@answers): Pres (Desc) - Ind - 3 - S - syuw—

avtod (10 answers): Pers Pron - Gen (Poss) - M - S - awtog, 1, -0 -

alX : adversative coordinate conjunction introducing independent clause - but

ovai (1 answer): Interjection used adverbially -

10 amotwe/ (9 answers): Adj (Subst) - Dat (Ref) - M - S - amiotog, -ov - to the unbeliever

ot (4 answers): subordinate conjunction introducing
dependent clause -

avtog (10 answers): Pers Pron - Nom (Subj) - M - S - awtog, -1, -0 -
gv 10 Pooctrea/ (7 answers): 1 - Loc (Sphere) - F - S - Bacilela, N —
ovk £oton (7 answers): (Pred) - Ind - 3 - S - yuw-
gyo (7 answers): Pers Pron - Nom (Subj) - S - eyo -

ovk...eyut (7 answers): Pres (Desc)-Ind-1-S - gy -

ouotog (9 answers): Adj (Pred) - Nom - M - S - opotog, -a, -ov -

101¢ yevdodidackaroig (7 answers): 2 - Ins (Assoc) - M - P - yevdodidackodog, o - (like)

ovtot (10 answers): Dem Pron - Nom (Subj) - M - P - obtog, abt, Todto -

Page 3 of 6



yevotol (7 answers): 2 - Nom (Pred) - M - P - yevotng, 0 -
gwow (7 answers): Pres (Desc) - Ind - 3 - P - yuwm-

kabwc (4 answers): subordinate conjunction introducing
dependent clause -

0 movnpog (10 answers): Adj (Subst) - Nom (Subj) - M - S - movnpog, -1, -0v -
ov Aeyer (8 answers): Pres (Desc) - Act-Ind -3 - S - Aeyw -

mv aAndewav (7 answers): 1 - Acc (Dir Obj) - F - S - aAnbeio, 1 —

tote (1 answer): Adverb of sequence -

0 avOporw/ (7 answers): 2 - Dat (Indir Obj) - M - S - avBpwmog, 0 -

e (8 answers): (Const) - Act-Ind-3-S - reyo -

"Ev t® viw/s (7 answers): 2 - Loc (Sphere) - M - S - viog, 0 -

100 avBpamov (7 answers): 2 - Gen (Desc) - M - S - avOpwrog, 0 -

ov; (7 answers): Pers Pron - Nom (Subj) - S - o0 -

motevelg (9 answers): Pres (Desc) - Act - Ind ( )-2-S - motedo -
+*Conjugate the following verbs according to the appropriate model (7 answers):
Perfect - Active - Indicative Forms of 813w (7 answers):
Person:  Singular Plural Infinitive
1
2
3

3 Decline the following nouns and noun derivatives according to the appropriate model:

Correlative Demonstrative Pronoun totobtog, totantn, Totodto (18 answers):

Case: Masculine Feminine Neuter
Singular:

Nom

Gen/Abla

Dat/Ins/Loc

Acc
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Plural:
Nom

Gen/Abla

Dat/Ins/Loc

Acc

“Block diagram the above text according to the guidelines:

(A)

(1)
)

3)
4

(B)
)

(6)

(7
®)

@)
)

0 capPatm
"Qg...0 " Inodg Tov Aaov £8180.0KEV
T GLVAYOYT|
A M &v ) Todhoig,
avOpwrog...EITEV AVTQ,
Bopd
Thv dBetav Tod B£0b 6L i) dedoKag Ny
oL 0 Me6G10¢ 0K €1 OVIWNG:
OAAOL A
700 TOVNPOD 6L EL.

NUEIC OVK EIGOKOVGOUEY TOV AOYMV GOV,
OTL AVTOL KOKOL E1GLV.

PO EKEVOL TOD AVOP®TOV
0 KUp1o¢ mpoélnkev ta Aoyla tata,

Moaxdptoc E6TIV 0 TGTOC
0Tt 1 Baciiela..£0TV adToD.
100 Bg0d

AN
0LaL TQ) OMGTE
gv 1) Poctiely
OTL ADTOG...0VK £0TOL.

£Y0) OVK OLO10G g1t
. 101 Yeudodiduckaroig,
OULTOL YEVGTOL EIGLY
kafmg 0 TOVNPOG 0L Agyel TV aindeiay.

101E
0 avipone e,

"Ev 1d v1® 100 avOpdmov 6L MIGTEVELS,
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********************GRADE CALCULATION********************

Number of Errors

100.00

Missed accents and breathing marks
= 1/4 error per word

Times

Total Pts.

Missed

0

.50

Total Pts.

Minus Pts.

Missed

Grade

(Please record grade at top of page 1)
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